(» simulation of Gisin & Gisin model «x)
(* This simulation is slow. If you don"t want to wait,
change sanpl es to 1000 )

(» build A, the hidden variable x)
samples = 10000;

z = RandomReal [{-1, 1}, samples];

t = RandomReal [2 &, samples] ;

r =Sqrt[l-z"2];

X =rCos[t];

y=rSin[t];

A={X,Y, Z};

noise = RandomReal [ {0, 1}, samples];

aangle = 5;
nAngle = 360 / aangle;
angles = Table[angle[j] = =/ 180 aangle (j-1), {J, 1, nAngle}];

correlationArray = ConstantArray[0, nAngle];
nHits = ConstantArray[0, nAngle];

B=0x2xn/360;
b = {Cos[B], Sin[B], 0};

bx = b-l;

Do[ (» Do loop i1 over each angle in nAngle )
a =angles[[i]];
a= {Cos[a], Sin[a], 0};

aA = a.A;
(» Do loop j over samples x)
JjCorr =0;
JHits = 0;
If[Abs[ax[[J]]] > noise[[J]1], { (»1f true, this is a good hit )
JHits += 1;

JCorr +=Sign[aa[[J1]1] »Sign[bA[[§]111}1:
nHits[[i]] += jHits;
correlationArray[[i]] += jCorr, {i, nAngle}, {J, samples}]

normCorr = correlationArray / nHits // N;
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data = ListPlot[normCorr, DataRange -» {0, 360}]
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cosine = Plot[Cos[angle = Degree], {angle, 0, 360}]
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Show[ {data, cosine}]
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